13.1

Notes DIVISION OF POLYNOMIALS

OBJECTIVES: 1) Use long division to find a quotient and remainder.
2) Use synthetic division where applicable.

3) Write an expression of the form x" —a" as a product of two factors.
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LONG DIVISION
1) Let p(x)=x"+32and d(x)=x-3.

Use long division to find the polynomials q(x) and R(x) such that p(x) = d(x)-q(x) + R(x).
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Use long division to find the polynomials g(x) and R(x) such that p(x)=d(x)sq(x) + R(x).
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SYNTHETIC DIVISION I Works only for divisors of the form x —r !!
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FACTORIZATION OF XN — AN I

4) Use synthetic division to divide x* —a’ by x —a.
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6) Factor: x* —256

K"(’ _ 1S6 = )(H '%‘*

4] | o o o -2S6
|-

x4 O+ O 4+ Ox —2.C6
e 64 236
Y

e 64 e
U +1bx + by

N~y
EX‘*»Zﬂ = (x—)(3+H>+lox + M)
A NAaANnA N



